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— Y90 WD NP naw 21w O 32910
We see; if he refrained because of naw, etc.

OVERVIEW

X217 presented a query to Jaml 27; what would the ruling be if one was
unaware that it is naw (for which he is 211 only one 7277) and was also
unaware that these moX?» are MoX (for which he is usually 2»n for each
7OX91); is he 2°°11 one 127 or many. WX 27 replied that we need to ascertain
what caused him to refrain from doing the 79%%7%; was it because he was
aware it was N2w (then he will be 211 only one 727p), or was it because he
became aware that this 7oX?% is 70X (then he will be 21 for each 7oX?n).
There are various interpretations as to the meaning of wX 17, which moo1n
will discuss.

— Y99 011 NAY 1Y 19INRY IV‘)\?”‘P: V99
>"w9 explained that v°9 Xp n2w 01wn X means that they told him, ‘today

is naw’, and he refrained from doing (more) work. In this case it is a naw o%vn and
he is 211 only one 727p.

mooin disagrees with *"w7'0 and ask:
— DAY 1N XD IDPONR WD NN XX NINDIN 33 N%Y 999X 1D %D NPT NVUP)

And this explanation is difficult to understand, for perhaps if they would
have told him, ‘this is a 71o8%%’ he would have also refrained, even if they
would not mention naw to him.’

mooIn offers an alternate explanation:
— Y9 NP NIY DIVN X NWITD 1INT PNYY 13939 INII NON

Rather it is the opinion of the >''1 that this is the explanation of 2127 58

w992 NP naw -
— YN 7PN TaY NAUN 1Y S¥TI NN ONT “pasya mINY

R h

2 ("wn continues "7 1"72) However, if they told him this 79891 is forbidden and he refrained, then it is
considered NMoXYn 07w and he is 2> for each 7R,

 We cannot establish the person’s 3w by what he was told by others. There is no proof that he did the
7OX91 because of naw 07w (or 79891 07¥n) by what the people reminded him. We need to ascertain what
his 72w is.

* See footnote # 5.
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That he — on his own - says, that if they would have informed him only

regarding naw he would have refrained from work -
— Y9 791 RD MANRDNN 1D 911N N1 IN)

But if they would have informed him regarding the nioxY» that they are

forbidden he would not have refrained from work -
— 95 MY NN NINY 9Py Hav obyn 12 ON

If this is indeed the case then the main cause of transgressing is the abwn

naw, for that was more forgotten than the mox>», since he claims that even if he
was reminded of the max5» he would not refrain since even then he did not realize that it
is Daw.

nvOIN continues with > wdo:
— 9N sﬂ’b 1)’5”\0‘1 Y9 MmN 0IVN INY

And if he refrained because of the max», meaning that we ask him and
he says -

— NAYN DIYITINT o8 MN XD MINININ N0 9111 "N INT
That if they would have informed him about the n1ox%%, it would not

have been necessary to inform him about naw -
— MOANDNN AIWTIND 7598 1IN NAYN NPD 2979 191 N

However, if they would have informed him about naw it would still be

necessary to inform him about the n28%2, in this case -
— DNRY HNX 99 ¥ 295 *9958 MaNYI BYYN 990

The m2=8Y% 2%wn are the cause for his forgetfulness, so he will be 2+ for

each roxon.
— 299 LY XY A1 TNIva MNIY DANYYA YN

However in a case where he is equally unaware of both n2w and nxon,

in this case "X 17 did not resolve anything as to what the ruling should be.
— NOYAN NYPN VIVAY NHN YUN 29 XA ND)

And >wR 29 came only to resolve part of the query -
— 9P°¥ NIYYN N PNANY YN DINYAY MY

Meaning that occasionally we may ascertain which is the main

> It is not clear (to the translator) why here Moo writes 7°2 11°2»w7, and previously (see footnote # 4)
NMODIN writes 17Xy INIRY.

® He is more unaware of the Moxn that he is unaware of naw, since even after he knows of naw he is still
unaware that these M2ax?n are 70K (but when he was told about the N12X7n he realizes that it is naw).

7 This means that informing him about either naw or N9X%» would have been sufficient, or informing him
about either naw or N1ax%» would not have been sufficient unless he was informed of the other.
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unawareness.

mooIN rejects an alternate X071
— 959903 29M5Y NN 13909 XD

And we do not read in our text that which is written in other texts -
— 995 97532 HAINDN OYYN MINTNIN INTINY 7298 YNHIN NAYN 59 247999 99 N

‘and if when they inform him about naw it is still necessary to inform

him about the Max®%, then it is 17°2 NoRY» a»¥:1, ete. This X0 is incorrect -
—WHIY PPN N NN PN 13224 YAV N9 2997

For according to the explanation of the 3''9 it was necessary for the X3

to continue and specify -

— PAUNR DOPININY 598 NID K MANYAN 199 NYTIN 99
But when he is informed about the nax>%, it is not necessary to inform
him about naw, (only) in this case is it considered max>n a%y. It is not sufficient to
be considered max?» 0%yn if we only know that if when they inform him about naw it is
still necessary to inform him about the MaX», because it is possible that the reverse is
also true, that he was informed about NMax%» he would need to be informed about naw (so

their nn9vA are equal).’
— 15 YD NP MIANDN DIVN NI 19909) NON

But rather the text read, ‘and if he refrained because of nax8»»’, etc. We
then interpret this to mean that he was more unaware of M&>» than he was unaware of
naw.

NN continues with the conclusion of the Xn3:
— 210 MIONDN DIVN NIN NAWN VI DITI NI*AY MNP

And R1°29 responded to WX 17, ‘does he then refrain because of naw

unless he is aware of the nax8®%, etc.” xra1 -
— Y191 N3N0 NP9 ND 719 99 MY NTY NNA DXMIY DNNYY "2 919195

Means to say that since both naw and X5 are forgotten, it is irrelevant

that one is more forgotten than the other -
— 59311 1799995 NIY NY NIN

Rather there is no difference and the query applies in both cases.

8 In other texts (after 121 W™ Xp Naw DWwn °X) instead of reading 121 w>0p 7K D1 R, it reads 3 °R)
5933 17°2 MIORYA 2P MIARDAR TPYITIRD TIX “NOR NAWR 79 VTN,

? The >"1 maintains that “wx 21 does not resolve the query when the N>y are equal; only when one is
more M>3Y than the other.

' The query will remain unresolved when one is more maw than the other just like it is unresolved (even
according to *WX 17) when the Mno¥1 are equal.
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mooIn offers an alternate explanation:
— 09901 NV 02PN DN9IN )2 PYNY 1’2

And the R"aw= substantiates the reading of the texts (which moon
previously rejected) -
— 2550 M4t nt oYYnT VIVAY XA SUN 29T W9

And the X"2v" explains that @K 27 is coming to resolve that 111 777 2% is

277 (in a case where he is equally unaware of n2w and mMaR?»). *WX 11 explains -
— Py19a nav ohyn 9m° ANV NAVAY YIaD NV DIVN IN

If he refrains from 7OX%1 because of naw, meaning that naw is more

forgotten by him than nox%», then 172 naw o%v: and he is 21 only one.'*
— MIANYIN SHITING 7598 NN NAYN 7Y NI 23 )

And if when you notify him about naw it is still necessary to notify him

regarding the n>x%», then -
— A N AYYN MNNT NAYN DIVTIND 7098 MANINN 71D NYTIN 133 93 IN IDON

Even if the case would be that had you notified him of the max%» it would
still be necessary to notify him about naw, which is a proper case of a%pn

A7) 177 (because they are both equally forgotten), the ruling is that -
— 152557 ;AN DYy 2PUN

It is considered as n1a8®» 2%y;7 and he is 2997 for each 70897,

mooIn explains how we know to insert the reverse that it is an equal o%¥::
— Y9 NP NIV DIVN X DYDY VPITH NN 19)

And this is indeed evident (that if he is informed about the n1OX?» he still
needs to be informed about nNaw), since previously WX 27 mentioned SN

W15 RP Naw 2 (indicating that the [main] 2%¥7 is naw-
— 219 NAYN 1Y NYTIN 23 IR VP NINY

However here >wX 27 mentioned nawy ;v nyTn SN, etc., but he did not

"' The n"a inserts here the word 17°2.

"2 The X"aw1 disagrees with the *"7 who maintains that *wX 27 is not resolving the query in a case where the
nmoyn are equal (only in a case where one is more mMaw). [See (MdoIN by footnote # 7.] According to the
X"2w" there is a resolution even in a case where the nn>v: are equal.

" This explains the first statement of *wX 27 saying; X7 27 1KY 17°2 N2w 09¥:7 7 W9 Kp N2 0297 DWW R
nnX. This is similar to the *"1 w1 s.

' X121 responded to this statement of *wX 27 that N9X2% DWwn XX N2wn w0 0192, This can be understood
as NMvoIn explained it previously; that it is irrelevant which is more forgotten; in all cases (since you WX 27
maintains that 7n 737 2977 is 2°°1 then even if w19 Xp nawn) he should be 2°°11 for each 7ox7.

'> Here begins the 01907 no7"x which Mmoo rejects and the X"2w accepts. The words (in the next line),
7M...1°0K, are inserted by the X"2w" and are not part of the 015077 o7, (See footnote # 8.)

'® Obviously, if 79892 09¥7 is more forgotten than Naw w7, he will be surely 72X 2K 271,
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mention W19 Rp MO DWn O, indicating that he is not w19 exclusively because of
MORY7, but rather he is equally unaware of naw and MR,

Mmoo anticipates a difficulty:
—naw oIwn NN MARYIN YIS B9 9INPT N

And that which x1°27 asked WX 27, “is he not refraining from n1ox%2 only

because of nNaw’, so he should not be 2’11 for each 79871 even if he was DWwn w1o
ndRoN’?

mooIn responds:
— NTM RIN 29905 N9) 9958 NAY NIY XNM NIY DIVN NN 1199 991

This is the explanation of X1"27; he is not w5 because he is aware that
these are NMdOXY7 but rather he is w1 only because it is naw, so therefore
the naw naw should be the main 72w and therefore he should only be
2777 one j27p.

SHNN DO DY 299N NIV 1D2IWAT 1990 27910 7599 NN KD INN )PIyay
For if we were to interpret X121 differently'’, he would not be challenging
WX 17 at all since "WX 17 maintains when naw and n1>x57 are both equal

(0%vn), he is 217 a 127p for each 112897, Therefore we must interpret X°27 to mean
that naw is the main 73w and it cannot be considered 771 77 %77 and he should be 21
only one.”’

SUMMARY

*"w1 maintains that 9P n2w 21wH X means that he was informed that it is
naw (and similarly max%» 0w X, that he was informed that these are
M>oRY7). The °"9 maintains that it depends on which was more forgotten naw
(one) or MARY» (many). However WX 17 has no resolution if they were
equally m>w. The X"2w1 maintains that if they were equally m2ow (according
to *WX 27) he is 2>°11 for each oKX,

" This question by X127 indicates that he understood *wX 27 to be saying that if he was Max%» awn W™
(meaning that he was told that these are N1oX?1) he is T 228 21 (but not that even after he was informed
about Naw he needs to be informed about N12X71). This seems to follow NHYIN view and not the R"awA.

'8 X127 did not mean (when he said naw amwn X9X NIOKRYAM w9 D192) that (MK are not the only cause
since) N2w is also a cause, but rather that in any event n2w (in essence) is the only cause why he is w™s.
According to "Wk 27 we were always aware that naw and n19X5n were equal causes.

" See previous footnote # 18.

% See footnote # 14 (and ‘Thinking it over’).
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THINKING IT OVER

According to the X"awn the first question of X1°27 that 21 nawn WMo 019
was that he should be 21 for each *'7ox%n, while the second question of
X127 that 191 MOXYn w9 o125 was that he should be 21 only one **727p.
How can we reconcile the seeming inconsistency?>

2 See footnote # 14.
22 See footnote # 20.
2 See n"n.
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